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npndwdp L hhdp plnnibbinyg <wjwunwbh <wlpwwbunnipub upswwtunp 2009
pUwlwbh nbtywntdptph 22-h N 1064-U npn2dwdp uinbnoywds dhogbnuwuntiuswyw
hwadbwdnnnyh 31.03.2021p. phy 2-5 npwlwb GgpwlwgnipiniGt nt hwdwbpn
nGwdwph wewownynipintbp, hwidwjbph wjwqubh

npnanid k.

1. Lwunwint] <wjwunwbh <wipwwbunnipjwt Upwpwwnh dwpgh Upwpuwin
3 uhypnetighnlw] Jwlwpnwyh hwiwygws wnmwpwswlhwld  wwbwynpdwb
thwuthwpenprtph  Upthwbhy  hwdwjGph  giluwynp  hwunwlwagsh  Gwfuwghdp
(gnunbinpdwl Gwfuwghop) hwdwdwb hwybwash:

2. Quwynp hwwnwwagdny uwhdwbywsé™ hnnwdwubph GwwunwluwihG Yuwa
gnpdwrbwywb GowbwynigntGtbpp hwdwptp thnthnfugwd  «Rwnwpwhbntpju
dwuhb» <wjwunwth <winwwbinnipjwb optlph 14° hnndwsh 5-pn dwuh npnyeh
wwhwboh wwwhniwb wwjdwiny L hwybwsh «<nnbpp Gwwunwyuwht b
gnpédwrbwywa GowlbwynipnitGbbph thnthnfuntpntGatn (hnnwdwutpp
Ywwntignphwih tnpwbubnpdwghwb)» géwapht (Wunthtwn® Géwghp) L Gpubned
uwhiwbywé Yuwrenigwwwwndwl thnitphlt hwdwwwunwufuwb, pln npned.

hwdwyaphhnnwdwubphbwwunwuwihGhgnpdwrtwlywbtwbwynipnctbaphdintinfuntgnt
GhtppRL 1




Urwolwhtipp thengwreniitbp (1-5 tiwph)

<nnwidwu - Urjw Gwwunwyuwihh L

hN

qowgnh

Ynw

qp

Qr.1
Qr.2
qr.3
qr4

qgr.s
qr.é6
Qr.7
qr.s
qr.g
qer.70
qr.11

Q0 12

Qr.13
QL. 14
Qpr. 15
Qr.16
Qr.17
qr. 18
Qr.19
qr.2o
qQpr.21
Qp.o2
Qr.23
Qr.24
Qr.25
QL6

qr.3e
aQy

Qg1
Qg2

- qQu3

gnpdwrtwywb
Gowhwynipynibp dwytnt
up
(hw)
2 3
Qninwwnbunbuwluwl
Gawlwynipywb
hnntiphg
Ywnbywhnn 0.12
Ywntwhnn 012
wntywhnn 0.10
untywhnn 0.12
Ywntwhnn 0.48
Ywntjwhnn 0.28
Ywntywhnn 0.24
Ywnbwhnn 0.24
qninuinauintGuwliul wy  0.57
Ywntjwhnn 0.26
wntwhnn 0.2171
1/&//7[7/ whnn 0.31
Ywntbijwhnn 0.32
Ywntwhnn 0.4
Yuntwhnn 0.25
Ywnbywhnn 0.12
Ywntjwhnn 0.16
Ywntywhnn 0.4
Yywntywhnn 0.28
Ywnbwhnn 019 -
Ywunbywhnn 0:09
Ywnbwhnn 0.16
qnununaunbuwlul wy  0.42
qnununantGuwlul wy 0,15

q/m/zwm[/mbuwé/u_/ﬁ wy 0.03

qnununanbGuwliul wy

0.95

qninuininbGuwlwa wy  0.52

qgnnuntwnmbGuwlwl wy

0.025

ynuuiniwnbuwlul wy  0.02

Yunbywhnn

0.028

Unyneawaly 1.

Qfuwynp hwunwugdnid thnthnfuguwé Guywunwly
gnpéwrlwlwb Gpwhwynignilp

Plwywywyptph
nawdbnd

wnawdénad
nGuwidbnd
wnbwdbnd

fowppliwpniguwwinduwl
luwrpluwrniguiyuinduwl

nGwidbnd

wnbwdbnd

SwuinwlwlpwGlweniguigunduwl

wnhwdbnad

wnhwdbnd

wnGwdbnd

fvwrplweniguwiwunduw
fuwrplwpniguiwwiinduw

wnhwdbngd

wnbwdbnd

wnGwidbnd

wnhwdbnd

wnadbnd

nGwdbndg

wnbuwidbnd

wnGuwidbnd

luwpplywpniguwiwwindul
<{wuipwlywlywGluwrniguiyundul (dupquinu!
{wuwinwlwlyw G GpuwGuwlngaul Gulus wwwond
Lhnh. oquiwugnnpddwl (thnnngltn)

Lhnh. oquiwgnnddwdl (thnnnglitin)
EGbpgtivnhYuwgh, tnpwbGuwnpunp, Yuwh, Yndneluwy
Ghpwlwenigywdpltiph opjtyunbtnh

Yndniluwy (ARY)

YUndniGuy (wnduwwluywl)

YUndnilwy (dwpnpdwl Yuyw)



Q2

GR.1  gnunuininbuwlul wy
GR2  gmnunlunbuwliul wy
Q2.3  gmnuwnlunbuwliwl wy
QL4 qnnuinbwnbGuwlul wy
Q2.5  gmnuwwnlunbuwlul wy
Q2.6  wpnn
QR.7 q/nuzwm‘[/mbuwgw[/ wyy
Q2.8  gmnuwwnlunbuwlwl wy
Q2.9  grnuwininbuwliul wy
| ROwywywintph
N hnntinhg
ale
LR T Plwltih wy
PR2  POwlth wy
PR3 Swuwnwlwlwblwenig
wiyundul
PR4 SwuipulywilieaGlweneg
wwwnnduwl
PR.5  Lanh. oquiugnnddul
£L.6 RPawltih wy
PR.7  Pawlbih wy
- Qwuinnty wwhwwOynn
- wnwnwéptph: |
e |
<wY.1  <winnily wwhwwGynn
wmnudpltnh

Uhgolwdwdytun dhongwrenidlbin (5-10 wwwnh)

2,50
7.63
0.50
1.82
0.62
1.45
1.22
0.93
1.27

0.05
0.08

0.50

1.75

0.03

0.13
0.25

1.710

<nnwiwuh Uryw Gwywwnwluwiht L

2nuwyhb

Snwdpwn (GUGwpnidwpwut, q./ni.)
onwdpwunp(dlbwpnidwnwlg. /nt. )
onwdpwin(dlylwpntownwig. /ni. )
onwidpwin(dlylwpnt dwnwag. /nt.)
onwidpuwin(dlylwpen dwnwg. /nt. )
onwidpwin(dlbwpn dwnwlg . /nt. )
opwidpwin(dlwpnidwnwag . /nt . )
onwidpwin(dlwpn dwunwag . /nt . )
onwdpwin(dlybwpniownwbg . /nt . )

ROwywywintiph
SwwnwliwyuaGliwspn guuwyuandw b (qinuwiaytiu
Swuunwilpilyun G GawGuulnyeiuG GuGuws wicguaa

(fuwinwhpuwyuwnuwly)
SwuwpwilywlywGlwient guwwindwG(dw Gl w,

fuwurpluwrniguiwwandwl

Swiuwipuwlywlyw GrwGuwlnepul ualus waguao

wnGuwdbnd
Swuipwilwlpw Glweni guwwindwl

EGEpgGwnhywih, tnpwbuwnpup, Yuwh, Yndntbuw
Ghpwlwrnigywdépltinh opjtywnttnh
Qbnbqdwlng (q./nt.)

Unyneawaly 2,

Qqfuwdnp hwnwlwgsntd duayl
thnthnjudwé Gwwunwwht Whwd (r

dwybnpbup  gnpéwetwlwl Gwhwynienilp
(hw)
3 4
POwywlwyptph
0.55 foweplwupniguwywanduwl 0.55
0.58 nbwdbnd 0.58
3.09 fowrpluwpniguiwwnduw 3.09

N géwqph gnpéwrlwlwb
dpw Gowlwynipnilp
£ 7
Qninwwnbunbuwlwb
Gawbwynipjwl
| “hnnGphg
ape
Qr.27  qnunuwwniunbuwliuG
wyy
Qr.28  ywnbiwhnn
QrR.29  qgninunlunbuwlul



wyjy

QR.30  qnunuwinlunbuwliul SwuwnwwwaGleurni guiyuenduG

0.33
wj
Qr.37 q//gz/zwm[/mbuwl/wﬁ 0.21 fuwepliwnpniguwywnduwl
wyy
Qr.32  gnunwwnlmbuwliuwG 0.07 fowrnlweniguwwuinduwl
wyj
QR.33  qgnununlunbuwluw 0.15 SwunuwilpuywGlweniguiwwianduwl
wyjy
QR.34  qgnunuinlunbuwliwl 0.29 Swuunwliayual GruwGuilngpaul
wiyy ’ Qubwswywanduw G
QLR35 Q/nz/zu/m[/thUw[/w[/ 0.38 Sty GruwGualnigpu G
wyy ' QuwGwswwywinduw G
QR.37  qgmunuinlwnbuwluw 0.44 Swuwunwlw G GyuiGuling el
wyy ' Quwibwiswywuandw G
QR.38  qgnunuuinlunbuwliul 0,19 foweplwnpniguwwnduwl
Ly
“UpnyntGwipbpnupjwa,
- phntippoginwgnpdiw
bowyp wpunwnpuut
Gwlwynipjwb
~ hmbpng i
up POwywdwptph
Ur1 Q. wpmw)]ﬂw[/w[/ 0.22 tuwrplnni guyunduwil
Urz2  Qnu. wnuinwinpuliual - 0.11 fowrpluwrniguwuiinduwl

.33

0271

0.07

0.15

0.29

0.38

0.44

0.19

Q.22
0.77

3. Annuwih b hwidwybpwiht quipgwgdwb dpwanbpntd uwhdwOqwsé Yunpgny Gepweb;

glfuwynn hwnwuwash hpwlwbwgdwl hwdwwwinwufuwl dhongwrnidlena’ puwn
uwhdwbyws htppwlwintpiwl L «Rwnwpwhlntpjuwl dwuhlb» <wjwunwbh
{wlpwwbunnipwb ontitiph 14° hnnwsh 14-pn L 30-pn dwubphl hwdwwwwnwufuw ('

hnnwdwutph Gwwwnwywihb Gwhwyntpjwl thnthnfunientGbbpp wewnwywl gpuwbgned

unwbwinig htinn plngnyt hwdwph hnnwih dnlnh lnwpblwl plpwghy
hwzwrdwl ndjwibbpnid, hwdw)Gph hnnuwh hw?ytyzrnid L wpuwgnit) hwdw)Gph
phpwghy pwnwpwhtwywh pwpunbontd:

4 Unyl npn2nudl nidh dbg £ dnbnud wwiuinnGuiw hpwwwnpwydwb opguw

hwenpnnn opwbhg:

Ynnu -4 ¥ hd -0 Qbintiyyuwh -0

NUrNsuu AUALrUS M/( (%

2N92ULLPUSUL ULUTL 4,.7J’

Uiunhusuy 2ULrNhE8NRL ((n,‘? 3 *—D =

ZUUNR PUAULSUL
N £
2)




